
Math 1113 Exam #4 Initials:

Name: GTID:

Answer the questions in the spaces provided and put your answer in the box . Organize work

clearly and simplify answers for full credit.

1a. Find the exact values: cos
�
⇡
3 +

⇡
4

�
and sec

�
⇡
3 +

⇡
4

�

cos ✓ =

sec ✓ =

1b. Given that tan u =
3
4 , with u in quadrant III, and sin v =

5
13 , with v in quadrant II, find the

exact value of sin(u+ v).

key

Formula;
E-T

cos(0 +a) = cost cos -Sinsing

T
cos(+ ) = cos()cos() - sin(sin)

-E -T

=

/
sec=

Formula
:

16/65sin(utu)= Sinucosu+cosushv

=) +1)(i)

=
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1c. Find the exact value: 2 sin
�
�⇡

8

�
cos

�
�⇡

8

�

1d. Use the half angle identity to find: sin(�75
�
)

Formula : Sinzo = Isinocoso
-Elz

2 sin() (1) = sin(27)

= sin(-)
= - Sin(i/4) 6k y

=Since is ODD
-
-

= t
I

z2
.

Formula: Fuz
sir()= Iso -

2

sin(2 .5) =F=

-E
I
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1e. Simplify: (1 + tan ✓)(1� tan ✓) + sec
2 ✓

1f. Find all solutions in the interval [0, 2⇡] of: sin x = �
p
3
2

C+tand(1-tano) + seco 2
= I-tanto + seeo

Formula:

Sinro+cost
= 1-to-Fario+1 => taro +1 =seco

= Et

&

Set 0 =2x
I=

=
4
5

O =2-= y=SinD

also next loop

Z

-= So x=

= i
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2. Use power-reducing formulas to rewrite the expression so that it does not contain trigonomet-

ric functions of power greater than 1.

cos
4 x

3. Verify the identity.

tan
2 x� sin

2 x = sin
4 x sec2 x

Formula : Costo = "Engto
Z

costo (oso = (2costo+ cos20
H

=( )l+ 2cos2o + 40) = ↓ (1+2020 + E+ cos40
4

coszo+ los 40

I-cost

↓
-

tanx-sinc sint . Sinsh
= -

Cos
- Si

- Sin
205

= Sintz . Toge

=-Stricose
at ↑ = sinte secige
-

=Slcosa Formula :

Sinc +10522
= 1

I-cost= Sin N
=>
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4. Solve the equation for all values in the range [�2⇡, 2⇡].

(1� sin x)(1 + sin x) = 1

5. Find the exact value: sin(165
�
) · cos(45�)

Hint: use the product-to-sum formula.

①

1-since =0 = sinc=

=> U=Emma
It since =0 => Since= -1

=> Re 3
= flith , n integer,

=
Formulas
SinOcos= [sin(6++ Sin10-x)]

Sin (1650cos(45%= in (1650+ 45%+ Sin (1650-454]
( =I (sin (2109+ Sin (1209]

⑳ E⑧

1-E,


